1Ak H 5 HERA PAEEE
0314 SEHETPLKREEE $549,000
0314 F IR R RUIMAR 2 Fir $500,000
0314 1009951394= 0 A+ $331,469
0314 HAEH ELEERARE $300,000
0314 MEREEOEREE $250,000
0314 TExE|E $200,000
0314 AP ehHEEd $135,405
0314 (REEEE | B $100,000
0314 EaERRAT $100,000
0314 RERRESFEROHARALT $100,000
0314 1009951452 0206E X $78,571
0314 ZE#E=g A $68,000
0314 TES|A $50,000
0314 MEE|R $50,000
0314 ZIRHR| & $50,000
0314 =HE|E $50,000
0314 EFMEZERLF $41,000
0314 ERE T $30,000
0314 1009951450 0206E X $28,500
0314 HFE=B $28,000
0314 SRRELEABE $25,000
0314 ERmZFRAMEE/NS $24,071
0314 BAX A $20,000
0314 —SEXEARLT $20,000
0314 MEX|A $20,000
0314 EHEmIFRIEM $19,544
0314 =0OAL $18,000
0314 Z0OAL $17,395
0314 EESFELEE $17,000
0314 > 25 B PR $13,000
0314 =WE|E $12,060
0314 2L | A $10,000
0314 RIEE|E $10,000
0314 FTRA $10,000
0314 FHEZ|A $10,000
0314 TUug|&A $10,000
0314 FEK|A $10,000
0314 BHE A $10,000




0314 =56EA $8,500
0314 MKER| B $6,000
0314 BIEE | A $6,000
0314 =HH|A $5,000
0314 MWL |A $5,000
0314 e U = $5,000
0314 HRE| B $5,000
0314 BREEE| B $5,000
0314 BRI | B $5,000
0314 BREZR|B $4,000
0314 MlE | B $3,000
0314 PEERX|A $3,000
0314 D= | A $3,000
0314 Bz | A $3,000
0314 =/E A $3,000
0314 altmEsELE $3,000
0314 THREE|E $2,900
0314 [ EEsR| & $2,000
0314 BREA $2,000
0314 TEE|E $2,000
0314 REE|A $1,666
0314 2P| B $1,500
0314 BEEX|A $1,000
0314 G =] $1,000
0314 FEZA $1,000
0314 Tz & $1,000
0314 2G4 A $1,000
0314 BN E=] $1,000
0314 RES|E $1,000
0314 FE|B $1,000
0314 TIRFE| A $750
0314 RERFE A $600
0314 TRE|E $500
0314 BIEE A $500
0314 RYE|& $500
0314 MBE#HB|A $500
0314 fREiE|A $500
0314 =197 A $250
0314 BREFG | B $250




0314 =g | A $250
0314 rER|A $250
0314 RERE|A $250
0314 BFFE|E $250
0314 Bleis | A $250
0314 HEEE | B $250
0314 BAPEAR | B $250
0314 EREA $250
0314 SEE B $250
0314 SRS | A $250
0314 FNE|E $250
0314 %1sh| A $250
0314 ZEIRAE] $250
0314 ERFALE | B $250
0314 AR | A $250
0314 wERB|A $250
0314 FRINZE | B $250
0314 BREE|E $250
0314 BRE A $250
0314 BIRE|A $250
0314 #iNE | A $250
0314 =EE|E $250
0314 BiEE|E $250
0314 BE A $250
0314 MEHE|B $250
0314 BlshT | A $250
0314 THEER|E $250
0314 BEA $250
0314 THE|E $250
0314 BER|E $250
0314 =E5E|A $50
0314 MInA | & $50
0314 EEE $50




